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sin(a 4+ B) = sina.cos B + cos asin j3,
cos(a + 3) = cosaccos B — sinasin 3
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sin O filE e # D Gk

D ETsin(a+ 3) 22 2DV,

AC=1.

DE = ADsin(a + ) = @+ 5).
cosa
—7,
DE =BDcos 8
= cos f(tan o + tan j3)
ThHhdhro,

sin(a + ) = cosarcos B(tan « + tan )
= sinacos B + cosasin §.

sin(a 4+ B) = sinaccos B + cos asin 3.
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cos D INEEH D EEHH

AE = ADcos(a + ) = M.
D cos
4 —J,
AE = AB - BE,
1
= %5
BE = BDsin 3
= sin B(tan « + tan j3),
AC = 1. AE = colsﬁ — sin B(tan « + tan j3)

__cosacosf3 —sinasin 3

COos «

cos(a+ 3) = cos acos 3 — sin asin 3.
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